e BAN0E 14 AYU B2 tehd 28 o]
2 9

4 1

<D3+4:3><I @12+5:12><5
1 1

@5+9:5x9 @5+2:2x3

® 7+2=7><;

B ‘

1
®3+4=3x7= Z

1 5
®5+9=5x X5=3

1 5 1

1 7 1




€
2712
15
2° 12

@
@




§+21

5

3 3 1
Oy @5 Qi
_Loe_ -

577 35




4.

WHeAlE shA L.




ol =

2 © Lo AolehE 1 3
AN Le] Apoler S

& 7 YA TS L.

Aol o] thio] go el g,

1 3 2
3 3 2 = “p
Ol @k O3 WaL Ol1p




6. ool umA BYch [ okl g%e 48
OARQ.

Al

i

i

0
it

. 45

v VvV VvV.v. v Y
0
iy

0
L
2o

B

A, WeAlo] 9 Qe B ARtAE
Q=B A2 AL E S g
ol wf M| Ateof g Ko
()= Aesto] vyt

2
4.._41'_;( 1_2
§*5*2—<§X5>*2—gxg—£




%]
mn
__i

Hu
el

24

91
31
o6

x4 +13

12
25
26
45

14

15

35
54

® 2




o & . 3
ol 8 & BE T 5 2 hedeY 75 o] By o) &

Bl

31 39 31 31 31
= Ve 12 402 43t
a Qg ©uyg @y Odg

O 4

mjn
<

Bl

3
8!

X8 +5 =17

295 2655
X9=351*0= %1

39
64

X9 =4

A




ST w4 o] B0

W AW 527 T4 2.

=
H -

>
|> XCt -

oHd = 2—m

=

o

)

W,




o T8 o} 15 cm? 9 AR A Wl WS 4

sto] gHE TRk AAFFE] Yolt @ am? YU7}?

1 1 1
@ 3(23cm2 @ E’)gcm2 ©) 3§cm2
@ 3§cm ®)3=-cm?

APl A We] rhedE AZehE Holt T g2 4
Azkgol 4 A wEei U, TejnE 2 342 4
2 1w 22 a7y shte] Wolg T8 4 vt

1o
Ay
o
il




_ 2
Al $4THE 3oL & 5 719 ol Sgo] o] H)
o] Fell 2 L A FA5u7H?
3 19 29 13 37
) e ) 5l ©) 5t @ e ® Ll
2
351 5719 Bof HZo] o] gonz
2 29 1 29
39 g 9 5 45( )




12.

S Yehle Aoz gduka] ke A

2] 2.0] Zol dntely7t?

6% m o] 22L A Al A -0l Z o 3

3. 27 | 3.1
@61)(5 @ng
3 1 27 27 1
=0y = =y







14. 95 F Uede A

1}
g

377]-><Ur

® L‘r+7}><%xa}

@

~&B

X1X
o
1

X

N

a}
1B
71X
2 7bx =

= 7} x
. 1

B

@
@)
®
@ = +7kx
®

B!
=t
=
1}
o
BN

of

222 shto 25

7]-><—><E’f ‘4'><

2 YEh Fyh
L x 2t

~ 7hxt

U x 2t
7bx o
% 1
g xt=
VR S
o a}‘

U x =t
7t x ot
%
7} x o x 2
7 u}xa}

_ YUxet

" Jbxth




ot T2 AT Y

4o
)
N
N
my
rlo
o
_>;L
Ut
=
1o
_l
X,
rr
[N}
,_.
W
er

1 1
@ 10>kg @ 152kg ® 203kg

2
21- =5 X7 =
3




-

ul




17. O ?_]'Oﬂ >, =, <E Exﬂ] ”‘13

3 3
3—+3X%X5 2—x5+2
8 O 4

iy

vV V¥
0
i
A

9
3 2 1 5
3= +3X5 =— X5Xb=—
X 3 x;l{x 3
3 11 1 55
2— 2 =— - =—
4x5 4><5><2 3

3 3
whabA 3§+3x5<21x5+2







D

@ Sim

1

@ ?km
2

©) 1?km

1
@ 1?km

B

2] 7 7|7 L 6 Aol mz




20. 4ol 429 em? O], A|27} 5em Q1 AAZRS Hgo] 4 £7o R

e, @ 249 A2 2 an 94 742,

5cm
/I
2 1 3
@ ?QCm @ 2Z cm ©) 4? cm
@ 6? cm ® 8? cm

1 27102 ier] A AN2hgo] 7o) hol




21. 7}=5, =12 Ao, o A9 G TN,

i}
— = = 7to|H2
7 - 7lolB 2
i}
— — < 7/
7}><4 =7k x4
2
=4-+5x4
7 X
30
= — +5x4
7 5 X
6
30 1
=—X - x4
TP
1
24
T




22. of| 58 12 2 e h& 2 & TakgielY 23] 71 H e, oW
»g P34 2.

1 1 2 3 1
15— 40— 106— 120— 141—
Oy @4 @106 @ 120] ® :

~&B ~

+12><2:23§—> :23§+2><12
9 9




e L

[e]
cm @l 2

1

7
12

23.

cm

1
4

® 3

D1
@)4




]

)

Heo] dol7k 5 cmztH, ©

d
T2

S

_g]

T T+




A 7] A7} 1 Bl At &o] T
71A7} 1 Eoll BAohe &2 T4
802 +15 = 22 x b = o0 = 5 (ke)
A-B-= 5% - 51—78
48 35 13
=555 " %95 = 90 ke

— A 7]A7} ;—Okg o wro] AAts o},




